AP Calculus AB  
Trassday, December 3, 2013  
Please work on #3 from the Free Response Packet.  
Also...Take a picture of your HW and then turn it  
into the trag.  
3) Consider the curve 
$$xy^2 - x^3y = 6$$
  
a) Show that  $\frac{dy}{dx} = \frac{3x^2y - y^2}{2xy - x^3}$   
 $x - 2y + y + y^2 - 1 - (x^3y + y \cdot 3x^2 \cdot 1) = 0$   
 $2xy + y^2 - x^2y - 3x^2y = 0$   
 $y'(2xy - x^3) = 3x^3y - y^2$   
 $y'(2xy - x^3) = 3x^3y - y^2$   
 $y'(2xy - x^3) = 3x^3y - y^2$   
() Induces the curve standard i.i.d with the sources  
 $xy^3 - x^3y = 6$   
Plug in  $x = 1 \neq find y$   
 $1 + 3 + y^2 - 6$   
 $y'(2xy - x^3) = 0$   
 $(y - 3)(y + 3) = 0$   
 $y' = 3 + y^2 - 2$   
 $y'(2xy - x^3) = 0$   
 $(y - 3)(y + 3) = 0$   
 $y' = 3 + y^2 - 2$   
 $dx = \frac{3x^2y - y^2}{2xy - x^3}$   
 $dx = \frac{3x^2y - y^2}{2xy - x^3}$   
 $dx = \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $(y - 3)(y - 3) = 0$   
 $(x - 3)(y - 3) = 0$   
 $(x - 4 - 1) = 2$   
() Find the x coordinate of each point on the curve where the tangent line is  
 $\frac{dy}{dx} = \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x^2 + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x^2 + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x^2 + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x^2 + \frac{3x^2y - y^2}{2xy - x^3} = 0$   
 $x^2$ 

